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Solve for the points of intersections.
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GRAPHING A QUADRATIC EQUATION

REVIEW

= The anatomy of a parabola:

) —

—

Zerxros, Roots, Solution, x-
intercepts

Vertex

y-intercept

X =0

Axis of Symme

Q¢ 4 ?0@ ]efl—

l' ’\" 9ues IEIN

' End Behavior:

| Look at the arrows
and describe

‘[ what is happening

for both xandy
1 1 l 1 l:x
2 3 4 5 6
,,,,,,,,,,,,,,,,,,,,, I—l'
|
____________________ S A VAU S T
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GREPHING QUBDRHTICS

Step 1: Find the axis of symmetry ¥ = ——

Step 2: Substitute the a.o.s.infor x to find y

Step 3: Plot the vertex (a.o.s., y found) |
\/\J‘/l\/\ \/WJ{H\ IN ’V‘baq

_ 45\9\
—) C&([‘fs O‘i '(‘S a(och Or(o (Duu \/(‘(-‘Pj\

Step 5: Reflect this point over the a.o.s

Step 6: Draw a curve through your thEQe points!

\Ove
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GRAPHING A PARABOLA

Finding the zeros, roots, solutions, and

x-intercepts:
Solve the equation by factoring.

2

y =X —06X+38
6 =" (8
(3-4) ()

/@@r\/

Solutions:
x=4,x=2 x-intercepts:
(4,0), (2, 0)
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GRAPHING A PARABOLA

= Find the y-intercept of the quadratic.

y=X>—6X+8
(0) - 66) 4§

~N—=¢

=

y-intercept:
0, 8)
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GRAPHING A PARABOLA

= Find the axis of symmetry of the quadratic.

y=X>—6X+8
= Hint: _ (0
nit. use X:—b Y/:E — _(Z - 3
2a )z
A=5%
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GRAPHING A PARABOLA

= Solving for the vertex.

y =X —6x+8 y= (3) - 6(3) 14
| G~1§TY
I3 (VLAY N
7 O\ - Ul) g
aE
L3

Vertex is (3, -1)
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GRAPHING A PARABOLA

= Determine if the parabola has a maximum or a minimum and the

value.
/v y=x>—6x+8
@
—
Ll , > Ay

Minimum, -1

Vualve oV er el



Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant



GRAPHING A PARABOLA

: Determi[ne the end behavior of the graph

~ 70 \ y=%x°—6x+8 @
U @ 60 et o900 Up X‘—B/ﬁo77[;>ﬁo

Gocight oy yp VRN

[ As x - 00,y — 00,
As x > 00,y — —o00,
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PUT IT RL}LTOGETH 10 GRAPH

; \ ' / y=X"—6X+8

e

| : / Vertex: (%,— ]> /\L

) O
l . / Domain: % B
- Ll RS ( OD 00) A// -
-6 -5 -4 -3 -2 -1 ? I N3 /4 5 6 Range: 3
1 e N
- erval:

- Increasmg I
. (3,00
4 Decreasing Interval
s (-9 3)
> End Behavior:
Y X —> , ng /\/\5 Y

\l/ =00 s o @
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-For the equation y = x2 — 4x + 3 find the:

= 1. solution 2. Y—intercepts 3. y- 1nter<§ept ()43
CET TR g (o)t-
(K=, %X=1) (A0 3,0 ("D> =)
: S

5. vertex 6. max/imin

() -4(1) +3

NTT |

-~

= 7. Graph:
Domain: <~M/ M)

Range: | - | | p@>

—Increasing Interval:
<Z— ) 09)
Decreasi:‘tj Interval:

O W

End Behavior:

| /\\j\ PISENNT:

(:q\/\\tuP

ﬁw NP’QK
l

SRR
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= For the equation y =-2x? + 2x + 12 find the:

-01. sc2>1ution . X-intercepts 3. y-intercept V= o«

= ~IX4 242 39 \] _7(0)F /

oy o\ U] e O
= 4, A%S 4 5. vertex 6. @mm

—

= 7. Graph: - l 26

|
—_— 1 A | | .
( % | - Domain:
0 i | | (- o212 )
) . Range:
c( {2 5 , ~ DO 12-5
[ ) . Increasing In$rval
ks g s('&a\% ye | Decreas&lg Inte
Nz * CY,
\

{‘QL—|— dOU-’/\

T TTTT] Sy @

< N | | ; Edeehaw(or f,,bntf)ow,\
X

2 I Y o? ys



Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant



= For the equation y = 15x%+ x find the:

= ]. solution

X g4 = o

X—=0O X:”//@
= 4,

. X-intercepts

(OIDB (’y/s,o

5. vertex

Ny
/\

\[ = —//(00

3. y-intercept »}- )§/a> [

. max/@

1

4 !

Domain: (_ ~2 f,_.>p)

Range:E//(w | m)

Increasing Interval:
(-1, 00)
%0
Decreagi:’tg Interval:
( - oA I / 3o>

End Behaviot:
efy rse S IN WY

T *XQ ~20 \/ ) &0 N0 N/ 00

L
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= For the equation y=4x?-9 find the:

= 1. solution | 2. —'nterce ts 3. y-intercept

= ‘/)(7 ()=
(Zxﬂ) (1x-3) |
=4, AOS 5. vertex 6. max/min

= 7. Graph:
P S | :Domain: (/00/99
— [

gange: E?, SO

E> _ ﬁ . Increasing Interval:
O
\ -5 | D(ecreasmg Interval:
(-— ~5, 0
fa 'l - End Blehzvior:

o {F rise (\‘f\"L rje
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= For the equation y =2x?+3x + 1 find the:

= ]. solution

=4, AOS

= 7. Graph:

Teache
r Note:
Use if

needed

2. X-intercepts 3. y-intercept
5. vertex 6. max/min
Domain:
1T T I T I T T T T 1T T T | Range:
' Increasing Interval:

Decreasing Interval:

End Behavior:




LET’S SEE WHERE QUADRATICS COME INTO
PLAY IN THE REAL WORLD...



https://www.youtube.com/watch?v=lbMir1UAO4I
https://www.youtube.com/watch?v=ReHwNtoRMrY

b 00= 2004 57462 6

vertex




